ECal_NHitsVSEHitTot ECal_NHitsVSEHitTot

I 50—
C C —{200¢
C a0 ol | —feoc
C C !
- L . |I|II —{160(
- 30 ] . jmot
r r 1
- i - S 120
r i o I'-. —{100¢
r T \HHW'” l " 1 r B | —{800
[ 'h I| : i | | P ! " r vl
u ll HJ\H\‘”:‘ II I |I 10_ : 000
L ’ | - 400
[ ,, L
wlh Foy 200

u! [
= by b by b by by v b w b by Ok o Lo v o Loy o bov o bov o by by byv o byw g by o
0 200 400 600 800 1000 1200 1400 1600 1800 2000 0 200 400 600 800 1000 1200 1400 1600 1800 2000




ECal_NHitsVSECITot

25

20

15

10

0 o o Lo L b L b
0 200 400 600 800 1000 1200 1400 1600 1800 2000

I500(

—400(

#300(

—1200(

100(¢

0

ECal_NHitsVSECITot

25

L —l100
20—

C —800(
15—

L #600(
10—

N —400(
5_

C | , 200(

- Il \1

FOETT ] \ q

0—|||||||||||I|||I|||

0 400 1000 1200 1400 1600 1300 2000



ECal_Map_200ETotHit550 ECal_Map_200ETotHit550

300~ 300
200~ 200
C —300¢ C 400¢
100 100~
r —1250( r
C r 300¢
- 200¢ o
-100 —{150¢ ~100F- 200C
~200f- -200F
~300 Ll Ll Cl 1 ] N B B el BT B B
~300 200 100 100 200 300 300 200 100 0 100 200 300



ECal_WMap_200ETotHit550 ECal_WMap_200ETotHit550

300~ 300
200~ 200
: —aooc F
100— 100
E 300 u
o Uy
-100 —{200¢ -100f~
~200f- -200F
B N B B rara mrarn A B Ll ] N B B el EPRPENN B L1

P L P
-200 -100 0 100 200 300 -300 -200 -100 0 100 200 300

&®
o
o



ECal_Map_550ETotHit1100 ECal_Map_550ETotHit1100

300~ 300
200~ 200
C —{200¢ o —200¢
100 100~
r 150¢ C - 150¢
o o
_100- —l100¢ —100E- —100¢
~200f- -200F
B B e erara P P L1 ] I B B e SR A L1

1 1,
-200 -100 0 100 200 300 -300 -200 -100 0 100 200 300

&®
o
o



ECal_WMap_550ETotHit1100 ECal_WMap_550ETotHit1100

300~ 300
200~ 200
E —l500¢ C
100 100~
C 400 C
of- i °F
u 300¢ u
-100 -100f~
~200f- I -200F
e T I B e e A B L L ) A I N N e S B L L

P L P
-200 -100 0 100 200 300 -300 -200 -100 0 100 200 300

&®
o
o



ECal_Map_1100ETotHit1500 ECal_Map_1100ETotHit1500

300 300 —
200 200
E E —{700¢
r —{700¢ -
r r —ls00c
100 —s0oc 100
C C 500¢
: 500( o q
C —a00c C —4ooc
-100F ~100f- —300¢
-200 -200F
~300f, I I I I I I ~300f— I I I I I I
=300 200 100 100 200 300 =300 200 100 0 100 200 300



300

200

100

-100

-200

-300

ECal_WMap_1100ETotHit1500

—1250(

—1200(

i 150¢

—100(

"llIII|IIII|IIII|IIII|IIII|IIII|I

L 1
-300 -200 -100 100 200 300

300

200

100

-100

-200

-300

ECal_WMap_1100ETotHit1500

700C

600(

500(

400(

300C

l-llIII|IIII|IIII|IIII|IIII|IIII|I

L P
-300 -200 -100 100 200 300



700003_ PADME I nternal ¢ SinglePositronRun

60000
50000
40000
30000
20000
10000

Datal/Data2

SS2g_nhits
—IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII T 17T

3 —— MCSinglePositronRun
92,6x10° ev J

IIIIIIIIIIIIIIII|IIII|.!9! L & | 1 1 111

=
Ioo

o

=
o
,L

0 5 10 15 20 25 30 35 40 45 50
Number of ECal hits



35000

30000

25000

20000

15000

10000

Datal/Data2

5000

=
<

ECa NHitsInClus

O
N
(@)

X

— PADME Interna

<

¢ SinglePositronRun

—— MCSinglePositronRun
ev J

0

20 30

N hits in cl



Datal/Data2

x10° Eca NCluster

160
140
120
100

H O @
o O O

N
o

PADMEInterna

3 —— MCSinglePositronRun
92,6x10° ev J

¢ SinglePositronRun

IIII-I—|—|—|—|—||IQII|I.IIII=IIII=IIIIIIIIII

=
Ioo

o

=
o
,L




SS2g clSize

PADMEInterna ¢ SinglePositronRun

35000

30000 92,6% 10° ev — MCSinglePositronRun

25000

15000
10000

K

200001

5000
:I

_|III|IIII|IIII|IIII|IIII|IIII|IIII|IIT

Datal/Data2

=
<

Cluster size



ECa EClus clSizeNClusl

10000

50000— —
~ PADMEInternad ¢ SinglePositronRun ]
B 3 —— MCSinglePositronRun i
30000 -
20000 —

Datal/Data2

=
<

Cluster size



ECa_EClus clSizeNClus2
T T | T T T T | T T T T | T T T T | T T T T | T T T T | T T T T

PADMEInterna ¢ SinglePositronRun

20000
18000
16000
14000
12000
10000
8000
6000
4000
2000

3 —— MCSinglePositronRun
92,6x10° ev J

=
Co

Datal/Data2
H

=

<

-
&

Cluster size



ECa EClus clSizeNClus3

IR A L L LI IS LI IR
. PADMEInternal ¢ SinglePositronRun _
5000 roster =
B 92,6><103 ev + —— MCSinglePositronRun 7]
B ¢ ¢ g
4000 ,, -
B ' 5
3000— -
2000 . -
1000 " -
O:I L1 |MI-|-L€J|3|J| L ,:
©
Q
—
S
©
)]

=
<

Cluster size



SLELELELE BLALELALE B AL UL L AL L e L L R L L R
18000:_ ECal_ECIlus_clISizeNClus1 _: 50000__ ECal_EClus_clSizeNCIus1 __
16000E ol ciseNclues 3 - ) o disenclues ]
14000F- E 40000 - E
12000 3 - .
10000E = 30000, E

8000 E 20000F 3

6000F- = - - ]

4000F- T = 10000F -

2000F- 3 - .
O:' .| = L 0'....|..\|...|....|.. o]
’5 "0 5 10 15 20 25 30 ) 5 10 15 20 25

w
o

Cluster size Cluster size




ECa_clSizelcl dTimeHigerl0

16000— PADMEInterna }  SinglePositronRun

14000 92.6x10° ev e MCSinglePositronRun

12000

10000
8000
6000
4000
2000

=
Ioo

Datal/Data2
H

=

<

-
&

Cluster size



ECa_clSize2cl dTimeHigerl0

PADMEInterna ¢ SinglePositronRun

10000

8000 92,6)( ]_03 ev —— MCSinglePositronRun

6000

4000

2000

Datal/Data2

=
<

Cluster size



ECa_clSizelcl dTimeHiger20

PADMEInterna ¢ SinglePositronRun

16000

14000 | |
92,6x103 ev —— MCSinglePositronRun

12000
10000
8000

6000

4000
2000

=
Ioo

Datal/Data2
H

=

<

-
&

Cluster size



Datal/Data2

9000
8000
/7000
6000
5000
4000
3000
2000
1000

=
= )

=

<

-
&

PADME Internal
92.6x10° ev

ECal clSize2cl dTimeHiger20
T T T T T T T T | T T T

| | | | | | | | | | | | | | | |
¢ SinglePositronRun

—— MCSinglePositronRun

Cluster size



ECal clSizelcl dTimeHiger30

14000 pADME Interna | SinglePositronRun
12000 92.,6x10° ev - —— MCSinglePositronRun
10000

8000

6000

4000

2000

Datal/Data2

=
<

Cluster size



ECal clSize2cl dTimeHiger30

8000
/7000
6000

U
>
O
<
m
=
Q

S

Q.

¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

5000
4000
3000
2000
1000

=
Ioo

Datal/Data2
H

=

<

-
&

Cluster size



12000

10000

8000

6000

4000

2000

Datal/Data2

=
<

ECal clSizelcl dTimeHiger40

PADME Internal
92.6x10° ev

¢ SinglePositronRun

—— MCSinglePositronRun

Cluster size



8000
/7000
6000
5000
4000
3000
2000
1000

~ 0
y 10
©
Q
o 1
(]
()]

1071 £

ECal clSize2cl dTimeHiger40

PADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

Cluster size



25000—' LRI LA L DL L DL L DL L IRLINLLEL N LR
: ECal_ECIlus_clISizeNClus1 :

- [ ECal_clSizelcl_dTimeHiger10 _

- ECal_clISizelcl_dTimeHiger40 _
20000 -
15000} -
10000} -
5000 ]

%5 30

Cluster size

50000

40000

30000

20000

10000

ECal_EClus_clSizeNClus1
[ ECal_clSizelcl_dTimeHiger10
ECal_clSizelcl_dTimeHiger40

w
o

Cluster size



1800
1600
1400
1200
1000
800
600
400
200

19

Cluster size

[ B B B L B B B B B B B L B
E ECal_clSizelcl_dTimeHiger10 E
— [ ECal_clSizelcl_dTimeHiger20 —
r ECal_clISizelcl_dTimeHiger40 .
— = :|=‘=_ -
) P S [T I iV SR | -
5 0 5 10 15 20 25 30

18000

16000 == cca cisirete Timertgerzo
ECal_clSizelcl_dTimeHiger40
14000
12000 H
10000
8000

6000
4000
2000

| PRI BT sSSP RRI N B

PR
0 5 10 15 20 25

-

19

Cluster size

0



Datal/Data2

10°
10°
10*
10°
10°

10

=
<

ECd H|tEnergy

PADMEInterna
92,6x10° ev

I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| 4 IIIIIII| [ TTI

¢ SinglePositronRun

—— MCSinglePositronRun




10

Datal/Data2

ECa_Cl usterEnergy

PADME Internal
92.6x10° ev

¢ SinglePositronRun

—— MCSinglePositronRun




Datal/Data2

x10° ECa EHitTot

- PADME Internal | singlePositronRun

120

—— MCSinglePositronRun

(@)
X
=
<

100

|
©
N

80

60

40

20

o

) I . SV .
1079 800 1000 1200 1400 1600 1800‘2000




Datal/Data2

=
o
,L

ECa_EHitTot

PADMEInterna { SinglePositronRun
92,6x10° é

—— MCSinglePositronRun

@
R

I [ 1 IHIiI I IIIIIHI I IIIIIHI I IIIIIHI I IIIIIHI

[T IIHI” [T IIHIﬂ.oJ IIIIIH| I IIIIIH| I IIIIIH| I IIIIIHL




100

80

60

40

20

Datal/Data2
H

. »
10°0""200 400 600 800 1000 1200 1400 1600 1800 2000

x10° Eca ECITot

LI | T |_| LI | LI | T 1 | LI | T 1 | LI | LI LI
B PADMEInternal }  SinglePositronRun ]
92.6x10° ev —— MCSinglePositronRun .
. | LJL | T A ]

ES [MeV]



Datal/Data2

=
<

ECa_ECITot

PADMEInterna ¢ SinglePositronRun
92,6x10°

—— MCSinglePositronRun

I IIIIIIII I IIIIIIII I IIIIIIII

L d

I IIIIIII| I IIIIIII|.J IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII_I




1000

800(]
600f]

400f}

200

Datal/Data2

107t

ECal_hitSeedEnergy

__ PADME Internal
- 92,6%10° ev

¢ SinglePositronRun

—— MCSinglePositronRun

............. 1, . \““

0O 200 400

600

Y wmmu mﬂ\ i

‘
" d .
’- .
'v“ H EIiI
- :l““ y
HH
N | H" ”HH Il |||‘

800 1000 1200 1400 1600 1800 2000

ECISeed [MEV]



ECa EHitTot 1SingleParticle

PADMEInterna ¢ SinglePositronRun

35000
30000 92.6x10° ev —— MCSinglePositronRun
25000
20000
15000

10000

5000

:

Datal/Data2




1

1

4000

Datal/Data2

ECal EHitTot 2SingleParticle

- PADMEInternal | SinglePositronRun

OOOO:— 92,6><103 eV —— MCSinglePositronRun

2000

8000

6000

2000

o — “**—*A“

o




Datal/Data2

3000

2500

2000

1500

1000

500

o

ECal_EHitTot 3SingleParticle

— PADME nternal
92.6x10° ev

¢ SinglePositronRun

—— MCSinglePositronRun




ECa_EHitTot in14 16

PADMEInterna ¢ SinglePositronRun

40000

35000 02 6><103 oV —— MCSinglePositronRun

30000

II|I|'II|IIII|

25000
20000
15000
10000

STTTTI
(47

5000

o

=
o

Datal/Data2
H




Datal/Data2

=
o
,L

ECa_EHitTot in14 16

_|||||||_|||||_|||_||||||||||||||||||||
¢ SinglePositronRun

—— MCSinglePositronRun

I IIIIIIIl lIIHIII|

Bk
| III%: | IIIIIII| | IIIIIII| | IIIIIII| | IIIIIII|




ECal_EHitTot in16 18

- PADMEInternal ¢ SinglePositronRun E
25000 ePosther -
B 92,6><103 ev —— MCSinglePositronRun B
20000— -
15000— -
100001~ -
5000— -

>
|

Datal/Data2
H




Datal/Data2

=
S

ECal_EHitTot in16 18

IIIIIII| I IIIIIlI|n'I IIIIIII|

T [t LI L N [ S N B I
PADMEInternal
02 6x1 S ev —— MCSinglePositronRun

+ SinglePositronRun




ECa_EHitTot in18 20
7000O—|—||||||_|||||_|||_||||||||||||||||||||

¢ SinglePositronRun

|
<
>
)
<
m
=
Q

=

Q.

60000 92 6x10° ey —— MCSinglePositronRun

50000

40000

30000

20000

10000

T T T T TR T |
IIII|IIII|IIII|IIII|IIII|IIII|IIII]_L

I.ILI|IJII

Datal/Data2

-1
1007200 400 600 800 1000 1200 1400 1600 1800 2000



Datal/Data2

ECal_EHitTot in18 20

IIIIIIII| IIIIIIII| IIIILIII| I IIII| [ TTTT

PADME Internal
92.6x10° ev

¢ SinglePositronRun

—— MCSinglePositronRun

=
o
,L



x10° ECa EHitTot in20 22

PADMEInterna ¢ SinglePositronRun

200
180
1601
140
120
100
80/
601
401

i
I T N T N

3 —— MCSinglePositronRun
92,6x10° ev J

|

=
Ioo

Datal/Data2




Datal/Data2

10°
10°
10*
10°
10°

10

=
S

ECal_EHitTot in20 22

PADMEInterna

+ SinglePositronRun

92,6x103 ev —— MCSinglePositronRun
o "Wt s
oty it
{4 i

AL

_?_HIIIII




2

20000

15000

10000

Datal/Data2

5000

5000

ECa_ETotClus NClusl

_ PADMEInternal }  SinglePositronRun
—— MCSinglePositronRun

[
%
N
o)
X
H
<

ev

Etloctl [MeV]



ECa_ETotClus NClus2
7000 L | L | 1T | L | L | L | L | 1T | L L

PADMEInterna ¢ SinglePositronRun

6000 92,6><103 oV —— MCSinglePositronRun
5000
4000
3000

2000

1000

Datal/Data2
H
[

10 "0""200 400 600 800 1000 1200 1400 1600 1800 2000
Etzoctl [MeV]



Datal/Data2

160
140
120
100

H O O
o O O

=
N
© o

o

ECa_TotEClus NClus3

:_ PADMEInternal ¢ SinglePositronRun

—— MCSingleRositronRun

%
N
o
X
H
<

ev

11 1 | & | I|II.I.|J

H

| o

-1
10 °0""200 400 600 800 1000 1200 1400 1600 1800 2000

E;Octl [MeV]



/00700 L I I L I I I I I I I I L I I IR I I A

E = o erocu : 25000}~ = e e :
5000__ al_TotEClus_NClus: _: C al_TotEClus_NClus: ]
40005 1 20000F 3
30005_ E 15000 3
2000 E 10000 -
1000F- J = 5000 .

- _ A_LI JA : - IJ | .

a1 1 el Lol vl s dema ol
OO 200 400 600 800 1000 1200 1400 1600 1800 2000 200 400 600 800 100012001400160018002000
Esy [MeV] Eqy [MeV]



1

Datal/Data2

ECa_EClus NClusl

PADMEInterna ¢ SinglePositronRun

0000
02 6)(103 ev —— MCSinglePositronRun
8000
6000

4000

2000

_1 ) ) ) | -
1079200

E,, [MeV]



Datal/Data2

700

600

500

4007

300

200

100

_1 -
10 g

ECa_EClus NClus2

PADMEInterna

3 —— MCSinglePositronRun
92,6x10° ev J

¢ SinglePositronRun

200 400 600 800 1000 1200 1400 1600 1800 2000
E,, [MeV]



ECa_EClus NClus3

120:— PADMEInterna ¢ SinglePositronRun
L g2 6><103 il —— MCSinglePositronRun

100

Datal/Data2

-1
10 °0""200 400 600 800 1000 1200 1400 1600 1800 2000
E,, [MeV]



P 2100 M I I L LI I I

ECal_EClus_NClusT
2200 [ ECal_EClus_NClus2

ECal_EClus_NClus3

2000
1800
1600
1400
1200
1000
800
600
400
200

e

Q100 200 300 4

00

i z =
500 600 700 8
E,. [MeV]

Q

0

10000

8000

6000

4000

2000

Q-

AT
100

200

ECal_ECTus_NClus1

[ ECal_EClus_NClus2
ECal_EClus_NClus3

300 400 500 600 700 800

E,., [MeV]



Datal/Data2

140

120

100

30

60

40

20

x10° ECa NClust

er_SingleParticleOnEHItT ot
| T T

L I |

¢ SinglePositronRun

—— MCSinglePositronRun




ECal NCluster 2SingleParticleOnEHiItTot

50000— PADMEInterna }  SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

40000

30000

20000

10000

OIIIIIIIIIII|'||I=IIIIIIIIIIIIIIIIIIIIIII

Datal/Data2

=
o
,L
o
=
N
w
N
o)
(0))
\l
0o
©
=
o



1

Datal/Data2

0000

8000

6000

4000

2000

ECal NCluster 3SingleParticleOnEHiItTot
| T

~ PADMEInternal ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

IlllllqllIIIIIIII.IIIIiIIIIIIIIIIIIIIIIIIII

-1
071 2 3 475 6 7T 8 9 10




Datal/Data2

x10° ECa DxLead otherHits EHitTotlSP

PADMEInterna ¢ SinglePositronRun

450
400
350
300
250
200
150
100

3 —— MCSinglePositronRun
92,6x10° ev J

L

a1
o

|
y

=
o

o

-1
10_500"=150 =100 50 0 50 100 150 200
A X [mm]



Datal/Data2

x10° Eca DyLead otherHits EHitTot1SP

e e

- PADME nternal
4001 92,6x10° ev

300

200

100

¢ SinglePositronRun

—— MCSinglePositronRun

0 50 100 150 200

Ay [mm]



Datal/Data2

300

250}

200

150

100

50

x10° EcCa DxLead otherHits EHitTot2SP

- PADMEInternal

|
©
N

¢ SinglePositronRun

(@)
X
=
<

ev

—— MCSinglePositronRun

100

150 200
A X [mm]




Datal/Data2

300

250

200

150

100

50

x10° Eca DyLead otherHits EHitTot2SP

:_ PADMEInterna

L 3 —— MCSinglePositronRun
~ 92,6x10° ev J

¢ SinglePositronRun

'*“ﬁ'J_ I f.f?mﬁ'fff.




120

100

80

60

40

20

Datal/Data2

x10° ECa DxLead otherHits EHitTot3SP

- PADMEInternal
92,6%10° ev

= T T 1 | T T 1 | T T 1 | I | T 11 | T 11 | T 11 | T T 4

¢ SinglePositronRun

—— MCSinglePositronRun




Datal/Data2

120

100

80

60

40

20

x10° Eca DyLead otherHits EHitTot3SP

e
E PADME I nternal ¢ SinglePositronRun -
- 92 6><103 ev —— MCSinglePositronRun ]
B | | "_F'_Y_'TI?I | 1 1 1 | 1 1 1 | | ITITLVTV_“V—-"—l (- |




180
160
140
120
100
80
60
40
20
0

x10°

[_____] ECal_DxLead_otherHits_EHIitTot1SP
[— ECal_DxLead_otherHits_EHitTot2SP
ECal_DxLead_otherHits_EHitTot3SP

—
Fol oo La——"5F

—-200 -150 -100 -50

0

=

]

== - B W
50 100 150 200
Ay [mm]

500

400

300

200

100

o

X
S)
O

L
K

[_____1 ECal_DxLead_otherHits_EHitTot1SP
[— ECal_DxLead_otherHits_EHitTot2SP
ECal_DxLead_otherHits_EHitTot3SP

— _l

R I AP =~ VAP B

"200 “156 =100 50 0 50 100 150 200
Ay [mm]




160
140
120
100
80
60
40
20

X 10°

[____] ECal_DyLead_otherHits_EHIitTot1SP
[ ECal_DyLead_otherHits_EHitTot2SP
ECal_DylLead_otherHits_EHitTot3SP

- =

— :I

L S ail BTN ATEEE T B AR e |

o~

=500 =156 —100 50 0 50 100 150 200
Ay [mm]

500

400

300

200

100

0

1%
J=
[

[_____1 ECal_DylLead_otherHits_EHitTot1SP
[ ECal_DyLead_otherHits_EHitTot2SP
ECal_DylLead_otherHits_EHitTot3SP

—

L =P B

[ IJ—IJ—I‘—'—'-’_L__IT_I_IJ_I_I_I_I_I_I_I_I_I_I_I_I_I_I_.__
-200 -150 -100 50 0 50 100 150 200
Ay [mm)]




ECal_DxLead otherHitsEThr200 EHitTot1SP

PADMEInterna ¢ SinglePositronRun
92,6x10° ev |

Q O
o O

—— MCSinglePositronRun

o
o O

N
o

a

o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

N W
o O

=
o

IIO

=
o

Datal/Data2
H

-1
10_500"=150 =100 50 0 50 100 150 200
A X [mm]



ECa_ Dyl ead otherHitsEThr200 EHitTot1SP

PADMEInterna ¢ SinglePositronRun

140 | |
o 92.6x10° ev —— MCSinglePositronRun
100
80
60

40

20

o e

Datal/Data2

-1
10—200 -150 -100 -50 0 50 100 150 200
Ay [mm]



ECal_DxLead otherHitsEThr200 EHitTot2SP

70700 SANLAL A I B L L L B BN B
PADME Internal }  SinglePositronRun

/7000

3 —— MCSinglePositronRun
92,6x10° ev , o

6000
5000
4000
3000

2000

1000

=
Ioo

Datal/Data2
H

-1
10_500"=150 =100 50 0 50 100 150 200
A X [mm]



ECa_ Dyl ead otherHitsEThr200 EHitTot2SP

PADMEInterna ¢ SinglePositronRun

8000

7000 92,6>< 103 oV —— MCSinglePositronRun

L]

6000
5000
4000
3000

2000

1000

SR i TR IR s lo | 1ol lgl 1ol 1 gl 1 1 1 g

=
Co

Datal/Data2
H

-1
10—200 -150 -100 -50 0 50 100 150 200
Ay [mm]



L B L L B LN L LN
5000__ PADMEInternal ¢ SinglePositronRun ]
B 92 6><103€V —— MCSinglePositronRun ]
4000~ * -
B ' ]
3000 —
2000 —
1000} —
O:.... PR BT TR N s 0 B S AN B RNT R I PURE DTN |=||=|_
AN
S
©
Q
—
S
©
)]

ECal_DxLead otherHitsEThr200 EHitTot3SP

-1
10_500"=150 =100 50 0 50 100 150 200
A X [mm]



ECal_DylL ead otherHitsEThr200 EHitTot3SP

=000F. PADMEInterna

4000

3000

2000

1000

92.6x10° ev

¢

¢ SinglePositronRun

—— MCSinglePositronRun

B ¢ |
- . —
| lgl lgl 1ol 1| al i Lol ® 1 et g1 gt 11 Lo | ¢

O||||

=
o
|

Datal/Data2

.I::::I:::;:::I::::I::::I:::;:::I::::I:::!:::I::::I::::I::::I:::ll:::l::::I:::;:::I::::I::::I:::;:::I:::.:!:::I::::I::::I:::;:::ll:::I::::I:::;:::I::::I::::I:::;:::I:::.I._

0 50 100

150 200
Ay [mm]



90
80
70
60
50
40
30
20
10

O.I

ECal_DxLead_otherHitsEThr200_EHitTj§t2SH

ECal_DxLead_otherHitsEThr200_EHitT]| 3SH

[_____] ECal_DxLead_otherHitsEThr200_EHIitT]| t1SH
—/ _| _ i _ER -

-

|

—

R T

J—L

:

.

—

=

—-200 -150 -100 -50

nnflnn
0

50 100 150 200
Ay [mm]

25

20

15

10

IIII|IIII|IIII|IIII|IIIII_

 BLILINLIL I (LI N N | L Ly L L L L L L B LN BB I

7 ECal_DxLead_otherHitsEThr200_EHitTllk2SE
ECal_DxLead_otherHitsEThr200_EHitTjit3SH

I..ilm...lj_._

~200 -150 -100

ol
-50

"0

50 100 150 200

Ay [mm]



160
140
120
100
80
60
40
20
o™

C——7 ECal_DyLead_otherHitsEThr200_EHitTljk2sH

E

Cal_DyLead_otherHitsEThr200_EHitTjjt3SH

—
=

_‘ _
1. et

—l
—200 150 - 100 —50

"0

50 100 150 200
Ay [mm]

ECal_DyLead_otherHitsEThr200_EHitTjgt2

40 [_____1 ECal_DylLead_otherHitsEThr200_EHitTpt1!
- - " - "
35 _Dyea X

ECal_DylLead_otherHitsEThr200_EHitTjt3

30
25
20
15
10

,

—

=t

OFlevns v lmral,
—200 —-150 -100 -50

"0

50 100 150 200
Ay [mm)]



Datal/Data2

3000

2500

2000

1500

1000

500

x10° ECa DHitsX EHitTotlSP

:_ PADMEInterna }  SinglePositronRun _:
L 92 6><103 oV —— MCSinglePositronRun ]
: L1 "_"Q_VJTIT | .I 11 11 1 | I I | 11 TIWT‘I -! | ol 1 :

100 150 200

A X [mm]



x10° ECa DHitsy EHitTotlSP

5000

:_ PADMEInternal ¢ SinglePositronRun -
- 92,6x10° ev —— MCSinglePositronRun -
4000 -
3000(— -
2000 -
1000~ -

Oku_:—f.—r’Tl?..... L1 bl ol ig1 ig1 lg1 g1 14l 1 g 1 4

Datal/Data2




Datal/Data2

x10° ECa DHitsX EHitTot2SP

2500 :_ PADMEInternal ¢ SinglePositronRun _:
B 92 6x10°% ev —— MCSinglePositronRun _
2000— —
1500— —
1000 —
500 -

Offf'fﬁiifofff I M

100 150 200
A X [mm]



x10° ECa DHitsy EHitTot2SP

PADMEInterna ¢ SinglePositronRun

4500
4000
3500
3000
2500
2000
1500
1000

500

3 —— MCSinglePositronRun
92,6x10° ev J

%

lo | lgl lgl 1ol 1 gl 1 o 1 ¢

=
Co

Datal/Data2
H
[TIT

-1
10—200 -150 -100 -50 0 50 100 150 200
Ay [mm]



1200

1000

800

600

400

200

Datal/Data2

x10° ECa DHitsX EHitTot3SP

— PADMEInternal
92.6x10° ev

¢ SinglePositronRun

—— MCSinglePositronRun

iiﬁf{:.‘::::

L

- jﬁﬁ“”f

50 100 150 200
A X [mm]



Datal/Data2

x10° ECa DHitsy EHitTot3SP

2200_—'"'|"_"|""|""|""|""|""|"'
2000F
1800
1600
1400
1200
1000
800
600
400
200

|

-
>
O
<
M
=
@
S
Q.

¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

lo | lgl lgl 1ol 1 gl 1 o 1 ¢

E

=
Co

o

-1
10—200 -150 -100 -50 0 50 100 150 200
Ay [mm]



x10° x10°
L I I L I LI I LI I UL B I I I I I LI R
12001 [ ECal DX EATomSP 1 ] 3000F- e S i —
r [ ECal_DHitsX_EHitTot2sP 7 L [ ECal_DHitsX_EHitTot2SP ]
r ECal_DHitsX_EHitTot3SP ] o ECal_DHitsX_EHitTot3SP ]
1000~ - 2500 3
800} = 2000 3
600F- - 1500 E
400F - 1000 =
200~ B B - 5001 3
= M B === P PRl P [ B IRl Eirars == SN
O—200 ~150 100 —50 0 50 100 150 200 0—200 -150-100 50 O 50 100 150 200

Ay [mm] Ay [mm]




x10°

poe3 =S e
o ECal_DHitsY_EHitTot3SP
1600F
1400F
1200F-
1000E
800F
600F-
400F- [
200F- ﬁ:A
Qb= | AP P el
5200 =150 —100 =50 0 50 100 150 200
Ay [mm]

x10°
LU B LA IR I I I B
— C__ ECal DHitsy_EHitTotisP L —
S000F = ccal phitey EritTotzsp ]
C ECal_DHitsY_EHitTot3SP ]
4000 -
3000F -
2000F- .
1000 -
C ,: ]
C P T I A P B [
02506 =150 -100 50 0 50 ‘100 ‘150" '200



140
120
100
80
60

40

20

Datal/Data2

-1
10500 =150 -100° 50 0 50 100 150 200

ECa_DHitsEThr200X_EHitTot1SP

PADMEInterna ¢ SinglePositronRun

92,6x103 ev | —— MCSinglePositronRun

T | LT | LT | T | LT | LT | T | LT
P —
L 1| | [ | L | | | L 1| | [ | L | | | L 1| | [

A X [mm]



140
120
100
80
60

40

20

Datal/Data2

-1
10500 =150 -100° 50 0 50 100 150 200

ECa_DHitsEThr200Y _EHitTot1SP

PADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

T | LT | LT | T | LT | LT | T | LT
P —
L 1| | [ | L | | | L 1| | [ | L | | | L 1| | [

Ay [mm]



10000

8000

6000

4000

2000

Datal/Data2

-1
10500 =150 -100° 50 0 50 100 150 200

ECa_DHitsEThr200X_EHitTot2SP

LI | | — | 1T T 1 | | — | T T 1 | T T T | 1T T 1 | LI
- PADMEInterna ¢ SinglePositronRun _
__ 92,6><103 ev ¢ —— MCSinglePositronRun __
| . _
_I L1 1 lgl lgl lel 1a1 1@ T | | e 1° o | gl |,| | ol 1 L1 | 5_

A X [mm]



ECa_DHitsEThr200Y _EHitTot2SP

PADMEInterna ¢ SinglePositronRun

12000
10000 02,6 103 ev —— MCSinglePositronRun
8000
6000

4000

2000

Ol ttorder el rer1a S T P YO0 A

Datal/Data2

-1
10—200 -150 -100 -50 0 50 100 150 200
Ay [mm]



8000
/7000
6000
5000
4000
3000
2000
1000

=
Co

Datal/Data2
H

-1
10500 =150 -100° 50 0 50 100 150 200

ECa_DHitsEThr200X_EHitTot3SP

[ ]
11 1 1 | lgl I-l lel 1% Ll 1| | — — 1 | lg | ol l gl | L ol 1

PADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

A X [mm]



1

Datal/Data2

ECa_DHitsEThr200Y _EHitTot3SP

PADMEInterna ¢ SinglePositronRun

0000
02 6)(103 ev —— MCSinglePositronRun
8000 ’
6000

4000

2000

O|=||=|=||=||=|.||o||||| I Y T T P T T T Y O

-1
10—200 -150 -100 -50 0 50 100 150 200
Ay [mm]



160F T T T T T T I T T T T T T T T T T o LI B IS IR DL I I I B
C [ ECal_DHitsEThr. X_EHIitTot1SP ] 40 ECal_DHIitsEThr: X_EHIitTot1SP
140 ) e pusernrzoos eiossr | 35 = £Cai DritseThra00x EHitTotaop
120;— J B 30
100} = 25
80F- . 20
60 — L = 15
40F = 10
201 | — E 5 -
O: ..... () T T P R N N T P il
—200 150 100 —50 0 50 100 150 200 —200 150 100 —50 0 50 100 150 200

Ay [mm] Ay [mm]



160
140
120
100
80
60
40
20
o™

T ECal DHRSETRr200Y_ERMTOIISP

E_ [ ECal_DHitsEThr200Y_EHitTot2SP _E
L ECal_DHitsEThr200Y_EHitTot3SP i
- = el AN L T N T :
—200 -150 -100 —50 0 50 100 150 200

Ay [mm]

40
35
30
25
20
15
10

5

T ECal DHRSETRr200Y_EFTOtISP
[ ECal_DHitsEThr200Y_EHitTot2SP

ECal_DHitsEThr200Y_EHitTot3SP

-

|

—

OF lovi Lot
—200 —-150 -100 -50

&

50 100 150 200
Ay [mm)]



ECa HitTime
! ! ! ! | ! ! ! ! | ! |

|
PADMEInterna ¢ SinglePositronRun

45000
40000
35000
30000
25000
20000
15000
10000

5000

3 —— MCSinglePositronRun
92,6x10° ev J

o®

0®®

I- 8;III|IIII|IIII|IIII|III

=
Co

Datal/Data2
H

=
o
,L




Datal/Data2

3000

2500

2000

1500

1000

500

=
<

x10° Eca _DTimelead otherHits

:_ PADMEInterna ¢ SinglePositronRun

—— MCSinglePositronRun

| |
%
N
o)
X
H
<

ev




Datal/Data2

1800
1600
1400
1200
1000
800
600
400
200

=
= oo

=
o
,L

I X

10% Eca_DTimeLead otherHits EHitTot1SP

PADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J




Datal/Data2

700
600
500
400
300
200
100

=
= )

=
o
,L

03 ECa DTimelLead otherHits EHitTot2SP

PADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J

III|IIII|IIII|IIII|IIII|IIII|IIII|IIII)(




Datal/Data2

x10° ECa DTimelead otherHits EHitTot3SP

oo0— " I

-~ PADMEInterna | SinglePositronRun E
250 92.6x10° ev —_ MCSinglePositronRun -
200 -
150/ -
100 -

50/ -

=
o
,L
I
=
o
O\
I
a1
o
o
a1
o



S
x1
120|||||||||||||||||||||||||||||||||||||||
- ECal_DTimeLead_otherHits_EHitTotl -
- [ ECal_DTimeLead_otherHits_EHitTot2slj -
100 - ECal_DTimeLead_otherHits_EHitTot3S]| -
- . . | | I 1 ]

96080

|
20 40 60 80 100
At [ns]

—60 —40 -20 0

x10°

C— ECal_DTimeLead_otherHits_EHitTot2

1800 ECaIiDTlmeLeadiolherHlIsiEHnTot1§i
S|

1600 ECal_DTimeLead_otherHits_EHitTot3S|

1400
1200
1000
800
600
400
200

v b b oo b o b v e
Y00 280260 =40 20 0

P I I I T
20 40 60 80 100

At [ns]



Datal/Data2

N W b OO & N @
o O o o o o o
T[T T T[T T[T T T[T T[T T 7T

=
H
= o o

=
o
,L

ECa_DTimelLead_otherHitsEThr200_EHitTot1SP

o

ADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J




Datal/Data2

800
700
600
500
400
300
200
100

=
= )

=
o
,L

ECa_DTimelLead_otherHitsEThr200_EHitTot2SP

PADMEInterna

3 —— MCSinglePositronRun
92,6x10° ev J

¢ SinglePositronRun

——




Datal/Data2

ECa DTimelLead otherHitsEThr200 EHitTot3SP

250071 o oo —— —
- PADMEInterna ¢ SinglePositronRun ]
2000__ 92 6><103 eV —— MCSinglePositronRun ]
1500 -
1000 -
500 -
O_ ! WW:W

=

o

,L

I
=
o
o

I
U1k
o
o
a1
o
=
o
o



=% L IR B L Y L
[___] ECal_DTimeLead_otherHitsEThr200_EHitTo4lSP
80 [— ECal_DTimeLead_otherHitsEThr200_EftToisP
ECal_DTimeLead_otherHitsEThr200_EtTaiBSP

70 |

50
40
30
20
10

IIIIIIIIIIII‘F;::-—IIIIIIIIIIIIIIIIIIIIII

ce v by o by by e by W e by by e b by
—QOO -80 60 40 20 0 20 40 60 80 100
At [ns]

35 ECal_DTimeLead_otherHitsEThr200_EHitTofLSP
[—— ECal_DTimeLead_otherHitsEThr200_EftTotpSP
ECal_DTimeLead_otherHitsEThr200_EtTaiBSP

il l_‘l..l.l‘”.-‘. l.l.:.l_.l I...l._l_l_l._I_L.I_I_I_I_I_I_I_I_I_I_I_I_L
—%O -80 60 40 20 0 20 40 60 80 100
At [ns]



Datal/Data2

g<103 ECa_DHitsTime EHitTot1SP

7000:— PADMEInternal ¢ SinglePositronRun

6000 92,6x ]_03 ev —— MCSinglePositronRun

5000
4000
3000

2000

1000

=
<




Datal/Data2

4000
3500
3000
2500
2000
1500
1000

500

=
= oo

=
o
,L

x10° ECa_DHitsTime EHitTot2SP

PADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J




Datal/Data2

1600
1400
1200
1000
800
600
400
200

=
= )

=
o
,L

x10° ECd_DHitsTime EHitTot3sp

PADMEInterna ¢ SinglePositronRun

3 —— MCSinglePositronRun
92,6x10° ev J




5 xlod

AL N BLELEL BLELEL LI UL LA IR UL LS LA B L B B B BN B N R BB
600 (7 ECal DRitsTime_EATTOSP | — 7 ECal DFitsTime_EATOISP |

r [ ECal_DHitsTime_EHitTot2sP ] 7000 [ ECal_DHitsTime_EHitTot2SP

o ECal_DHitsTime_EHitTot3SP ] ECal_DHitsTime_EHitTot3SP
500 - 6000
a00F B 5000

: ; 4
300 E 000

2 ] 3000
200 —

2 ] 2000
100 . 1000

E e = A P = s : ! . I I P PR B [P NP

—CiOO -80 60 40 -20 0O 20 40 60 80 100 —QOO ~80 —60 40 —20 0 20 40 60 80 100
hlt [ns] hn [nS]



Datal/Data2

N W b OO & N @
o O o o o o o
T[T T T[T T[T T T[T T[T T 7T

=
H
= o o

=
o
,L

ECa_DHitsEThr200Time EHitTot1SP

o

ADMEInterna ¢ SinglePositronRun

2 6x10° ev

—— MCSinglePositronRun

©

_._
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III




Datal/Data2

800
/700
600
500
400
300
200
100

=
Co

=
o
,L

=
I

ECa_DHitsEThr200Time EHitTot2SP

PADMEInterna

92.6x10° ev

¢ SinglePositronRun

—— MCSinglePositronRun




Datal/Data2

2500

2000

1500

1000

500

=
o
,L

ECa_DHitsEThr200Time EHitTot3SP

PADMEInterna

92.6x10° ev

¢ SinglePositronRun

—— MCSinglePositronRun




AR LA B B )| L i TT T T T T[T 7] 40|||||||||||||||||||||||||||||||||||||||
ECal_DHitsEThr: Time_EHIitTot1SP [ ECal_DHitsEThr: Time_EHItTot1SP
80 [— ECal_DHitsEThr200Time_EHitTot2SP [— ECal_DHitsEThr200Time_EHitTot2SP
" ECal_DHitsEThr200Time_EHitTot3SP 35 ECal_DHitsEThr200Time_EHitTot3SP
70 Il I

60
50

IIIIIIIIIIIE |HIIIIIIIIIIIIIIIIIIIIIII
=
=
IIII|IIII|I':'-_iﬁrﬁlllllllllllllllllllll

40F

30 '

20

10

wETETE BRI SPEETE BT Srarare | § PR BT B T PRI PR BRI SR A rom 0 A O T Y il e P
900280 =60 —40 20 0 20 40 60 80 100 900280 =60 =40 20 0 20 40 60 80 100

At [ns] At [ns]



Datal/Data2

1200

1000

800

600

400

200

-1
10 567240730 =20 -10 0 10 20 30 40 50

ECa_DTimeCl

I T 11 | | I |_| T 11 | I T 11 | T 17T | I T 11 | T 17T | T 11 | I T 11 T 17T
— PADMEInternal ¢ SinglePositronRun ]
B 92 6><103 ev + —— MCSinglePositronRun |
- + -
B t ]
— Bttty ot —

Tl
AT M :
t++ +++ ++ ¢ _
- : ’
] Jﬂ B
_| 1 1 1 1 | I | 1 1 1 1 | o9° | T.. 1 | | I | 1 1 1 1 1 1 1 1 | I |

At [ns]



Datal/Data2

ECa_nCl2 DTime

500:_ PADMEInterna ¢ SinglePositronRun _:
: 92,6><103 ev —— MCSinglePositronRun E
400— * —
300 + + %
L :
200 §ﬁ+++++++++++ +++++ P E
B i 4 E
e AT RAR I

20 30 40 50

At [ns]



Datal/Data2

ECa nCI3 DTimel3
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII| IIIIIIII

250— PADMEInternal ¢ SinglePositronRun

: 02 6><103 ev } —— MCSinglePositronRun
200
150—

100

e

50

-J—II|IIII|IIII|IIII|IIII|II

o

-1
1050724030 =20 -10 10 20 30 40 50

At [ns]



180

160F
140
120
100F

ECa_nCl3 DTime23

- PADMEInterna
- 926x10° ev

¢ SinglePositronRun

\ —— MCSinglePositronRun

At [ns]



Datal/Data2

ECa_ClusterTim

PADMEInterna ¢ SinglePositronRun

3500

3 —— MCSinglePositronRun
92,6x10° ev ) +
L )

L)
#

¢
' ‘

3000
2500

¢

2000

+m+¢ ¢
1500

Laa] ¢

1000

500

IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
-
-.--.-
*
...
e

=
Co

=
I

=
o
,L




Datal/Data2

ECa_ClusterTim

PADMEInterna ¢ SinglePositronRun

3500

3 —— MCSinglePositronRun
92,6x10° ev ) +
L )

L)
#

¢
' ‘

3000
2500

¢

2000

+m+¢ ¢
1500

Laa] ¢

1000

500

IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
-
-.--.-
*
...
e

=
Co

=
I

=
o
,L




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111


